### **CCR Certification Form**

# Consumer Confidence Report

**Certification Form** 

(to be submitted with a copy of the CCR)

### (To certify electronic delivery of the CCR, use the certification form on the State Water Board's website at

### http://www.swrcb.ca.gov/drinking\_water/certlic/drinkingwater/CCR.shtml)

Water System Name(s):	MISSION SPRINGS WATER DISTRICT, WEST PALM SPRINGS VILLAGE, PALM SPRINGS CREST
Water System Number(s):	CA3310008, CA3310078, CA3310081

The water system named above hereby certifies that its Consumer Confidence Report was distributed on **6/30/2023** to customers (and appropriate notices of availability have been given). Further, the system certifies that the information contained in the report is correct and consistent with the compliance monitoring data previously submitted to the State Water Resources Control Board, Division of Drinking Water.

Certified by: Danny Friend	
Name: Danny Friend	
Signature:	
Title: Director of Operations	
Phone number: (760) 932-0004	
Date: 7/13/2023	

To summarize report delivery used and good-faith efforts taken, please complete the below by checking all items that apply and fill-in where appropriate:

 $\boxtimes$  CCR was distributed by mail or other direct delivery methods. Specify other direct delivery methods used: **USPS** 

 $\boxtimes$  "Good faith" efforts were used to reach non-bill paying consumers. Those efforts included the following methods:

☑ Posting the CCR on the Internet at: <u>www.mswd.org/CCR</u>

☑ Mailing the CCR to postal patrons within the service area (attach zip codes used)
 □ Advertising the availability of the CCR in news media (attach copy of press release)

□ Publication of the CCR in a local newspaper of general circulation (attach a copy of the published notice, including name of newspaper and date published)

□ Posted the CCR in public places (attach a list of locations)

□ Delivery of multiple copies of CCR to single-billed addresses serving several persons, such as apartments, businesses, and schools

□ Delivery to community organizations (attach a list of organizations)

 $\Box$  Other (attach a list of other methods used)

□ For systems serving at least 100,000 persons: Posted CCR on a publicly accessible internet site at the following address: [INSERT INTERNET ADDRESS]
 □ For investor-owned utilities: Delivered the CCR to the California Public Utilities Commission

This form is provided as a convenience for use to meet the certification requirement of the California Code of Regulations, section 64483(c).

### United States Postal Service

	stage Statement-	–USPS Mar	<b>ketir</b>	ng Mail						
2023	saction Number: 317315161914 M1	CAPS / EPS Transaction Nu	umber:	Postage State 551122059	ement Nu	ımber:				
Group	Mailing Group ID 417348085					Mailing Job Number ARVJKBM			Open Date 06-22-2023	
ng G	Preparer HIGH TECH MAILING SERV			Orig M	<sub>gin</sub> ail.dat		1	Close Date		
Mailing	Job Description MISSIONSPRINGS0630									
Mailer	Permit Holder's Name and Address and E HIGH TECH MAILING SERVI 75071 SAINT CHARLES PL S PALM DESERT, CA 92211-9 Contact Name: REFIKA JERF (760)779-0460 htmailing@aol.com CRID: 5811468	CES STE A 002	(If other ta HIGI 7507 PALI	d Address of Mailing Ag han permit holder) H TECH MAILING 71 SAINT CHARLE M DESERT, CA 9 5811468	SERV	STE A	66575 2ND	hich Maili i <i>t holder)</i> PRINGS ST SPGS,		
	Post Office of Mailing PALM DESERT CA 92260 Type of Postage Permit Imprint	Processing Category Flats		Mailer's Mailing Date 06/30/23 SSF Transaction ID #	Federal	Agency Cost Co	tode Statement Sec Total # of Piec Mailing 14,999		No. & Type of Containers Sacks: 0 1 ft. Letter Trays: 0 2 ft. Letter Trays: 0	
Mailing	Permit #	For Mail Enclosed Within A				ombined Mailing 1408.40 ]Mailpiece is a product sample.		l Ibs.	EMM Letter Trays: 0 Flat Trays: 156 Pallets: 0 Other: 0	
	149 For Automation Rate Pieces, Enter Date of Address Matching and Coding 05/31/23 Move Update Method:	[ ]Bound Printed Matter   [ ]Media Mail For Carrier Route Pieces, E of Address Matching and C 05/31/23	Enter Date Coding	1	ncing Date			earing a S	implified Address Enter	
	Multiple Methods This is a Political Campaign Mailing No			This is Official Election No	ı Mail		[]Letter-size		nailpiece contains c.	
ostage	Parts Completed <b>D, E, F</b> Complete if the mailing includes pieces bearing n precanceled stamps.	netered/PC Postage or		Subtot			dd parts totals		\$3,793.83 \$0.000	
ď									\$-5.50	
	Fee Net Postage Due						-	\$0.00 \$3,793.83		
	For USPS Use Only: Additonal Postage Payment (State reason)									
Certification	Incentive/Discount Claimed: N/A The mailer certifies acceptance of lia he or she is authorized on behalf of t any deficiencies resulting from matte accurate, truthful, and complete; that fees claimed; and that the mailing do information on this form or who omits Privacy Notice: For information regar	he mailer then that mailer rs within their responsibili the mail and the support es not contain any matter information requested of	o pay any r is bound ity, knowle ing docur r prohibite n this form	/ revenue deficiencie I by the certification a edge, or control. The nentation comply wit ed by law or postal re n may be subject to	es asses and agre e mailer h all pos egulation	ssed on this ma ees to pay any hereby certifie stal standards n. I understand	deficiencies. In a s that all informa and that the mail d that anyone who	appeal. I addition, tion furn ing quali o furnish	agents may be liable for ished on this form is ifies for the prices and es false or misleading	

# Part D

Automation Flats

#### Flats 4 oz (0.25 lbs) or less

	Entry	Price	Price	No. of Pieces	Subtotal Postage	Discount Total**	Fee Total	Total Postage
		Category						
D1	None	5-Digit	\$0.572	46	\$26.3120	\$-0.1380	\$0.0000	\$26.1740
D2	None	3-Digit	\$0.726	1,261	\$915.4860	\$-3.7830	\$0.0000	\$911.7030
D3	None	ADC	\$0.824	110	\$90.6400	\$-0.3300	\$0.0000	\$90.3100
D4	None	Mixed ADC	\$0.896	199	\$178.3040	\$-0.5970	\$0.0000	\$177.7070
D9	DSCF	5-Digit	\$0.483	22	\$10.6260	\$-0.0660	\$0.0000	\$10.5600
D10	DSCF	3-Digit	\$0.637	197	\$125.4890	\$-0.5910	\$0.0000	\$124.8980

í		
D23	Part D Total (Add lines D1 - D22)	\$1,341.3520

D26	Containerization Discount Total (Add lines D24 - D25)	\$0.0000
-----	---	----------

D27 Part D Total (Line D23 minus Line D26)
--

#### **Full Service Intelligent Mail Option**

D28 DISPLAY ONLY Flats - Number of Pieces that Comply 1835.0 x 0.003 = \$5.503
--

\* May contain both Full Service Intelligent Mail and other discounts

## Part E

**Nonautomation Flats** 

Flats 4 oz (0.25 lbs) or less

	Entry	Price	Price	No. of Pieces	Subtotal Postage	Discount Total	Fee Total	Total Postage
		Category						
E4	None	Mixed ADC	\$0.923	19	\$17.5370	\$0.0000	\$0.0000	\$17.5370
E10	DSCF	3-Digit	\$0.689	103	\$70.9670	\$0.0000	\$0.0000	\$70.9670

E26	Containerization Discount Total (Add lines E24 - E25)	\$0.0000

E27	Part E Total (Line E23 minus Line E26)	\$88.5040

## Part F

**Carrier Route Flats** 

This postage statement was verified and accepted under the PostalOne! program. No postal signature or round stamp is required.

#### Flats 4 oz (0.25 lbs) or less

	Entry	Price	Price	No. of Pieces	Subtotal Postage	Discount Total**	Fee Total	Total Postage
		Category						
F9	DSCF	Saturation*	\$0.207	1,222	\$252.9540	\$0.0000	\$0.0000	\$252.9540
F13	DDU	Saturation*	\$0.187	11.820	\$2,210,3400	\$0,0000	\$0,0000	\$2,210,3400

F45	Part F Total (Add lines F1 - F44)	\$2,463.2940

#### **Delivery Sort Container Containerization Discount**

	Entry Price	Price	No. of Pieces	Subtotal Postage	Discount Total**	Fee Total	Total Postage
Category							
F46	Saturation Flats -	\$0.009	11,036	\$99.3240	\$0.0000	\$0.0000	\$99.3240
	Number of Pieces that						
	Comply						

F56	Containerization Discount Total (Add lines F46 - F55)	\$99.3240
·		

\$2,363.9700

F57	Part F Total	(Line F45 minus Line F56)	
1.07			

\* Full Service Intelligent Mail Option not available

\*\* May contain both Full Service Intelligent Mail and other discounts

This postage statement was verified and accepted under the PostalOne! program. No postal signature or round stamp is required.